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#�� ������ � %�������� � �� � �� �� �� � �� � ��� � / � ���#��� � ��%� ��� � �� � ��� � %���� � �% � �� � ����
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���%∗∃&∗���% � %����#��� � �� � ������� #�# � ����∀ � ���� � � � � � ����� � ���%∀ � ��� � ������ � � %��#����

���������� � �� � � � �� �������� � � ���%� & � ����� � ∃� � �� ����#���#� � � � � � ���� # � ���%∀ � ����

�� ����#���#�%��#���������������� ���� �∃��� �����#�∃&���������−� � �∃���(∃����%���������� ��

� #���%���� ����� ����%������

����� � �� � � � �� ����� � #��� # � ��� � �������� � � � ��� � �� ���� � �� � #��� � � � � # � �������&� ��

� �����  ����� �� �
�−���%� ��������������� � � ��� � ��� �#������ � � � ������� � �&%�� � )�����#� �� ���

%�&�����∀ � �������� �����������������������+���&�#���� ���&���#��������#����� ����� ������� �� #�

��%��−��#����� ����� �∋�����&������#������ ���������� �����  ����� ��� ���������������−���� �

%����������� #�����#��� ���� ����������%� #� ��� �����  ����� ���∃���������������∃��%������ ��

������������������

� ����%�����#��� #����������� ∀��������−��&�����∃�������&��� #����&�� #�%�����������(�&������



��� ��������
������������	��

����
	�����	

���� ������� �%��� ����∀ � ����−��∀ � �� � � � ��� �#���� ��� � ��� �#������ � �%������ � �� ���� � � � � ����

#������ ������������%%������� ����������� ��������#����� ����� ������#����������������������

�������#��� ��%��� �����



��
�����

��	�����	���
� ��	
�����	!∀#�	�∀��	�
����� ∃

�������� 	 
���� 	 
������� 	 ����������� 	 ������� /����#� � � �� � Α6�8���Β∀ � ����� � ����� � ����

%����������������%%�������������� �� ������ �%��  � �∀�#���� � ��� #�#����� �� ��

����������/ ���%���� �����%� � �����8/,1���������������%��������&���� ������ �������

������#����−������.��������������������������������&�����

����������	������	��������������
��
	�� �
�!�
��∀�#�	����
��!#��������� #��#���������

�� ������ ��������� ��� #����� ����#�∃���#����� ���� �������������������������������

Χ�=�#��� ���������������������������������������#����� ����Χ�=��� �∃�����#����#��� ��

�������� ���������(� �������������� ������

��������� 	���� 	  ���������� / �∃
�∀%���� �&�

 � �	�

∋��
 �∃&�� �� � � � � ������� � ∃����� � ��

���%���� � � # � � � %���� ������ � ������ � � � � �������� � ∃����� � ���� � −�� � ���%������

���%� � ������ ��� %���#�−�����)��(������������∀�(�&∃���#∀�����+�

����	�������/���#����� ������∃���� ��#���#����∃�����&�����������������&����������#���#∀���

�������#������������#�������∃��� �#� �≅� ��∀������������#���#�����∃�������������#�

��#���� #����������#�� ������������−�������∃�������� ���� �������#���������������#��∀�

� ���� ∀��� �∃��#�����∃�#����� ���������������#���)�������������������#��+∀���%�������

�������� �∃����%����#���∃�������&�

�������/���#������� ��∃�������−����������&������ #�����&���������∃��−����#�� ������� ��������

������&�������&%�����&∀������&��������−����#���������%������������∀����������#���� �&�

#�����∃�� � %����� � � �� � � � �&���� � � # �  ������� � ��������������� � ����� � ���� � �� � ∃��

� ��%���� � � � #�� � � � ������ � ��%���� � ���∋�� ��&∀ ���#��� � ��� � #���� � �%������ � )����


���� +∀ � ∃�� � #� �  �� � ��−� � �� � ∃� � #���� � �%������ � )��� � <�=+� � ��� � �&%���� � (�&�

�����������������������#��������������#����������∃�������� �� #�%��������� #�%� #� ���

!�∀���	����������	������������ (
���!�	��
�
	��∃
��∀��������� #��#�.���� �%����� �����

���� � �� � �∃5��� � ���� ��# � %�������� �� � �� � ��� �& � #���� � ���� � ��� � #�−���%�� � � ���

��� #��#��������������������#���∃���#����������#�−���%�� ��� #���(��������%���∃����

����������	�
	����	���
�
�����������������
������������������
��
����������������� ��



�	∆ ∃�����
�

!�∀#

���	������ � � ������ ���� �������%�����∀ ���%����������� �����&������ ������������%�����

%�������)��������+ � �� � �������#� ��&%�����&∀ � �� � ������ � �� � � ����∃� ���� ��� ��%����� ��

�&������ #����#����������������������������������#�

�����	��
��,��� �������� ��������� � ������������ ���������#�������� ���&%���,� �������

��#�������� ���&%�������#������ �#�� ������������#��������#&∀��������� ����������&����

#��� �#���������)����&+�����∀�������������� ������� �∃�������#�� ��� ��������� ���������

∃&�:8=�������������#&�%��#��� �#�������������� ������������<�=���#����

���	���������& ����#�����∃���������������������#��∀���������#��� ���������#��������������

����%��#�∃&�����#���%�������Α4�����∆�Β�#������ �������∃����� ������� ������� #�����

�∃��������& ���
�������� �������& �������� ��������������� �∃�����#�� #�� #������#�∃&�

���� �∀ � ����� � ��� � �∃������ � �& ��� � %�������& � �##������ � ���%������ � / � #�����−��

����������������������#�������������������������(����#������ ��������� ���%�∃������

∃�� ����������#∀������& ������������������∃��� #����� #�∃�������������%����∀�����������

������� �������

������� 	�������� 	 ���������� &	�∋�
� �!��
��	� � #�	����
� �� � � ���#��� � � �� ����� � )���

��������� ������#��� ���� ������+������������� �&����#�����������#��� ������∃5����

���� ��#�����������&������ � �� �%��−�#������%����� � ������ �� � � ����������� �#��������

��������(��������Ε��������#��� ��=� ����������∃��%������∀�<�=������������������

��#��� � � �� ����� � �� �� � �� � �� � ∃� � ���# � �� � ������ � � # � #�����∃� � �� � ��#�����

!�−���������∀�����������������#��� ���� ��������� ������ �∀��� ���������������#������

����#��������������������������−����� ����∀�����<�=�����∃�� ���� #��#�.�#�∃&�����

:�?������������#−� ��#������� ������)�%��������� ��−����� ����+�

#�����	��������	����������/�)������!��
��	��#�	����
�����������%������ ������ ��& �����

����<�=�#��������������(��&����∃���������������( �� �����%���������Ε�=��4���

��������������������∃���#���#��� ���� ������∀���(��������:�∀�:8=∀������/  ������ 
�

��������� � � �� ������ � ��� �  �� � �� ��#���# � �� � ∃� ���#��� � � �� ������∀ � �� �� � ���&�

�&%�����&�#�%� #�� ����%�������%��������� #��� ��� ����� �������%������4���#��∀����&�

��  ���∃������� �#�����������������∃5����� #�������#����������∃�������� ���������������

)������#��+�

∃��	��������	 �������������!#�!
��������	�

�%�	�
����� �:�?���� #��#������������ ��

���� �∀ � �� � �� ����# � � � ������ ���� ��� ���#�� �∃���# ��������� �� �� ���� ���� ������ ���

�������∃����� ����������#�−���%�� �������������#��������� �������∃5��������∃���#�� �

������������#���������#� ��������������:∃5��� ��������&�)�:�+��/%���������<�=�

��#���∀�� &������#������ �∃������� ��#������ ��������&��� �∃����%�����#���� ������

�:��



�������� ���

���������	��
��
��
���
�����

��������	��
������
����
��
���
���������	���
������������
�
��������������
���

����
��

�
�
������������
���
����������������
�������
�
��������������

��������������	���������������	�

�
�
�

���������
�����		�������
���������
������������	������������	��
��������
���������	�

����������
���������������

�����������	�������
���������
������������	��
���������
������������ !�����∀#∃%��&��	��
���


��� �∋()∗∗�+�
�
�∋ ������������,�������������� �������
��	��
−��������
������� � 
���

����
���	�
�������,���
�.��
��������������
−��������
��������/����
���
�����
�������	����

��
�������
�
�����
��
�
������������� 0�	∗∗∃%�

�������	
����1�����	��������������
���������
�������
�
�����
��
�
����������

��
�����2���

����	�� �����
�
� � �� � � � ��		��
��� � 
���� ���� �  3��	��∀∗∃%� � �� � �

���
��� � ���
�
��� � 
���

����
�
� � ��	������ � 
� � � � ����	 � ����� � ������
 � �� � ����
���	 � ���
� � 
� � � � ���� � �����

 ������∀4�∃%��3����������	���������������5
��
	��
����
���
�
�

�����	������
���
��

������
��	��
���������������������		��������	�������

�
�����������
�����

�	��
��������

������������
�
����������	����������
�������������	������������
���	��
���������	�
����
��

�����	�����������	������	���������

��	������������
������
��������������
�������������

�������������
����������������	���������������������������������������������	��������

�����6���	����������
������������	��������������
������	������	��������

�������
��	
�����������
����
������	���������
����

���
�������
�
����	���
����
���
���������

����	 � �
������� ��������� � 
�� �������
��� ��� �� ������	� �����	 � ����� � 
� �� � ���������

�������������� 3�����∀�∃%�

����	��
���������	����6��
��������������1������
��������������������	������	���������

����	������
� � ��� � �6���	�� � ��������
� � � � ����	 � �
������ � ��� � �������� � �
 � �� � 
���

�������
���������������������	���������
��������������������������
�
��
�������
����

����	���������

������ ����

���
�������
�
����
�������������
�
���������	�����������������	��
�����������

��		���
��������������������������������������	������	���������������������
����������
�

�� � �� � ������ � ����	 � ������ � � � 
��� � �� � ����
��� � 7�
 � �		 � ������	� � �������
���� � ���

��������� ��� �� ������	� �����	� ��������
����������
 ������������������	� ����������

��

�		������������������	��
��������������	���������
���

�����
���
���
���������	���


����������	�����
����������
����		��������������
�������
�
��������� 0�	∗∗∃%�

�	��	
��� �8���
�
% � ������
� � ��� � ������
���2�� � �� � �
	��		��� � � � 
������ ����� � �
��
��� ���
��

��������
�������
����
��� �������������
 �����
����	��
��
����� �1���6���	�������
�������

������
��
�������
������
�6
�����

���
�������
�
����������������������	������	��������

��� ���������
 � ������
����
��� � ��� � �6������� � �� � �

���

�� � 	��� � ������� ��������� ����

������ � ������
� � ��� � ��������
 � ����
����	 � �
��
���� � ��� � �6������� � �� � 
�� � ��
����	�

�5
�����
 � ������
����
��� � �� � 
�� � ������
��� � �����	� � ����� � ������ � 
�� � �������
�	�



��) ��������

����
�
�������
�����

�	�����
�
�������
�����
������������������������
����	��5
�����
��

3������������
��������������
�
�������������������
�������
��������
����
������

���
�����

	�

	�%����
������������
�
�

�������
�����

����
���
���������
�
%�������
��	������������
��

��	���	������
�
��

�������
������������������
���
������
��
��

���
�����		�������
�����������
����
���

�����	���	������
��������
���
�������������������!���

�
�
����������
������
�������������		�������������
��	�
���

���������
��	�� /�����∀9∃�� :�7;��∃��

 <:����;�=∃������� >�����?=∃�� 3�����∀�∃��������
�������� <:����;�=∃%�

���������� 1�����	��� � ��� � ��≅��
� � ������
��� � �� � 
�� � �� � ������	 � �����	�% � ���
� � ���Α���

������	���������	�����	���	������ 0�	∗∗∃%��!����
���
��−��	�
������������������	�����

��
�����������
 �����
�

��
����������
�
� ���≅�����������
�����������	��������������

	���	��

�	���������
�
��� �����
�������
������������5
��
	������

���
�������
�
�����������	�6�

������	�����&��	������
�
�����������������
�����	��������
�����
������≅�����������
��

��� � ∋��
����	 � ����
�
�∋ � ����� � ��� � ��
 � ������� � 
� � �
�
����� � ��� � �
�������� � �����

 /�����∀9∃%� ���
�� ���≅�� � ��������
� � ��� � �� � � � ��
�������
� � ����
��� � ��
���� � 
���

����
�
�����������������
���������	�����
����
���������

���
�������
�
��������	�6�

������	�����	������������������
������������������6	���������		�����≅�����������
�������

 3��	��∀∗∃�� 0�	∗∗∃%�

�	������
������1���������
�� :�7;�=∃��������	�����
���������
������������
���������������

���
�
�
�������������� <:����;�=∃��������� >�����?=∃%��!����
���
���Β������
����������


����� �� ����������������
�
�������������
�������� � 3�����∀�∃%� �!����
���
��−��	�
���

�����������
�����������
�����
�

��
����������
�
����≅�����������
�����������	��������

�

���������������������
��	�����������
��
����������
������	�����
�����������������
������


�����������
����
����������������

����
����1�����
�
�������������������≅��
�����
����������
�
�����������
���������
���
���

�� � 
�� � ��	�� ������
 � ���� �  /�����∀9∃� �  0�	∗∗∃%� � 8���
�
� � ��� � ��≅��
� � ��������� � ���


�����	����������������
���������������
��������������	�������Α������
�� >�����?=∃��

���
����

���
�������
�
������
�6
��������
�
������������
�������	������
��������
���

��	��������
������������������
�����
�
����������
���������

��
����	����Χ�
������
��������≅��
������������������������������

������
���
����
�
���

���������
�������������������������������� 3��	��∀∗∃%�����������
���
��������
������
��

���
�����������		������
����
����������������	�����
��−��	�
������������� /�����∀9∃%�

����� �
����� � �	���� ��� � 
��� � ����−�������� � ���
 � ����� � �		 � �
��� � ����� � ��
�� � ��

���
���

���� �
��
 � �� ��� �
��������� ������
���� � �� ��� ����
���
 ����� � ����−���������



�������� ��#

���
� � ���
� � ��� � �� � ��		�� � ���
� � ��
� � ���� � � � �������	 � ��� � 
��−��	�
�� � ���� � �����

 /�����∀9∃%�





���
������������
����

��������
��������
����
���
��


1(� 1�
���
�

(1: ��	
��
�����
���
����

(1� ��	
��
�����
���������������

(18 ��	
��
�����
����������

(188 ��	
��
�����
������
�����������

(1∆ ��	
��
�����
���������

(�8 (�������


(08 (
�
������������������

�8:� ������������
�������������������
	
��

:: :���������
�

+:� �����

���������������
	
��

�8/� 
�
�������������������
����
������
	
��

+Χ8 ���
�
���
��
�����
���������

!/0 !��
����	���



,>� ���
������ �
��!��
����


�:+ !��
����
���
�
��
	
����������	
��

�8:� ��
����
���8���
�
�����8�������:�
������	

�88+ ���
����
������������������
��������

����

�8Ε ��
����
���8	�������Ε��
��

�.( ��������−.��2�(���

�: ���
���

��������
�

0+� ∀���������#��
	
�������������
�

0�, ∀�∃
��������
	
�������


08Ε ∀�
�������������%��
	�

8:( ���������
���������������		
��




��= ������������
��������

8:� ������������������
	
��

8,8 8���
�
�������
�����������

88� ��
����
�������
�
���������
�
������
������	

88Ε
8���
�
�����	��
���
���−�
�
��
��

�����
�
�����	��������������
��		���%

8Ε� �������	�%

���������
�

��8Ε ���≅��
����������8���
�
�Ε�����

8�1 8����������
�������	��������
���
�

8<Ε 8���
�
�������
��
�
�

��

Ε:+ Ε��		��
���������	����


Ε:Φ %���&��
��
�
��
	
���∋��

>�/  ����
�����
������������


<�+1 (����������
��������
������������

<8:� (����������������
��������������
	
��

Γ�/ �)�
�����
����∗�
��������


��������
��������
����
����������

1 �1%�����	�

( �(%���

(Χ �(%������%
	�

�8 ��%�
��������
������%���
���

�8< ��%�
��������
������%���
������%�����


� ����	

�( ��%�≅�����%�������


�8 ��%��
	�����%��
��	��


0� 0����
���

8 �8%���
�


8;80Ε 8��
��	��
�����
���

80Ε 8���
���

88 �8%��
���%���
���

88< �8%��
���%���
������%�����


� 8���
%

&8 �&%�����%	��



���
�����������

!�������Η�1

���
�������
�
�����
�����
�����������2����	���		���������������������������������������� #

!������)Η�<�����
��������
������������������������������������������������������������������������������������������ 4

!������#Η�(������������������
�
������������������������������
�
��������������������������������

!������9Η���
�����������������
�����
������������������������������������������������������������������� ∀

!������4Η��


�	������
��������
���
�
��������������������������������������������������������������������� ��

!������=Η�Ε
�
�

�������

���������������������������������������������������������������������������������������� �9

!����)��Η�����
�����	���	���������
�
��������
������������������������������������������������������������� �∀

!����)�)Η�.�����������������������	�����
�
��
�
�

����������������������������������������������������� )∗

!����)�#Η�8���
�
������������
������
�
��
�
�

����������
��	��
�������������������������������������� )=

!����)�9Η�0��������������
��	��
���
�������������������������������������������������������������������������)�

!����)�4Η�∆
��
�
�����
��	��
�������������������������������������������������������������������������������������� )?

!����)�=Η����
	������
��	��
�������������������������������������������������������������������������������������� )∀

!����)��Η�Ε
�
�

��	����
��	��
�������������������������������������������������������������������������������������)∀

!����)�?Η�+6���	���������������
�Α������
����
��	��
���������������������������������������������������� #�

!����)�∀Η�+6���	���������������
�
��������������������������
��	��
������������������������������������ #)

!����)��∗Η�+6���	��������
	
��	�����
��	��
������������������������������������������������������������������ ##

!����)���Η�+6���	��������
	�−����������	�6����
��	��
��������������������������������������������������� #=

!����)��)Η�+6���	���������������
�
�������������	�6����
��	��
���������������������������������������� #�

!����)��#Η�8���	����������������	�
����������������
����%����������������������������������������������� #∀

!����)��9Η�8���	����������������	�
�������������������������������������������������������������������������� 9�

!����)��4Η�8���
�
�����������������	�6�
�������������������������������������������������������������������94

!����)��=Η�/�����	���
������	��������
�
����������������������������������������������������������������4�

!����)���Η�/�����	���
������	��������
�
��
�
�

����������������������������������������������������������4)

!����)��?Η�8���
�
��
�
�

������18)�9������������������������������������������������������������������������ 44

!����)��∀Η�Ε�����
�����������
�
����������	���
������≅��
���������������������������������������������� 4=

!����)�)∗Η�(�����
�
�

������88������������������������������������������������������������������������������� 4?

!����#��Η�,�����
��������������������	�
����	�
���	����
���������������������������������������������� ==

!����#�)Η�8���
�
������������������������������������������������������������������������������������������������=�

!����#�#Η�Ε
��
−
�����������
��������������������������������������������������������������������������������� =∀

!����#�9Η�0��
���������������
�����
�������
�
�	������	������������������������������������������������ �∗

!����9��Η�Χ�������
����������
�
��������������
��������
��������
�����������������������������������?

!����9�)Η�3����������	�����
�
���������
�
����������������������������������������������������������������∀



��? �������������
�

!����9�#Η�Χ�������
�
���������������������������������������������������������������������������������������� ?∗

!����9�9Η�8������	����������
�
���������

��−
��������
������������������������������������������������ ?�

!����9�4Η�8������	����������
�
�������
�����
��������
��������
���
�
����������������������������� ?)

!����9�=Η�0����		�8���
�
�Ε�����������������������������������������������������������������������������������?9

!����9��Η�08Ε�������8Ε����������
�������
����������������������������������������������������������������� ?4

!����9�?Η�+6���	����������
��������
������������
�
���������������������������������������������������� ??

!����9�∀Η�(�����
	������������(���()��(#������(9���������������������������������������������������������∀�

!����9��∗Η�Ε:+����������
��������
�������
��������
��������
��������������������������������������∀#

!����9���Η����
��	���

�
�������Ε:+��������������������������������������������������������������������������� ∀9

!����9��)Η�8�
��
��	�������
��
�����
�����������������������������������������������������������������������∀4

!����9��#Η�8�
��
��	�������
��
�����
�����������������������������������������������������������������������∀�

!����9��9Η�Ε
��������������	���	
����
����������������������������������������������������������������������� ∀?

!����9��4Η�8�����
������������������������������������������������������������������������������������������∀∀

!����9��=Η�Ε�5
���������
��������
������������������������������������������������������������������������ �∗�

!����9���Η�8��������������������������������������������������������������������������������������������������� �∗�

!����9��?Η����
���

�������5
�������������������������������������������������������������������������������∗)

!����9��∀Η�1�����	��������
��������������������������������������������������������������������������������� �∗9

!����9�)∗Η�7
������������
���������������������������������������������������������������������������� �∗4

!����9�)�Η�7
������������
���������������������������������������������������������������������������� �∗=

!����9�))Η���
��������
��������������������������������������������������������������������������������������)

!����9�)#Η�+6���������≅��
�����	���������
��������
������������������������������������������������� ��#

!����9�)9Η�(���������������
������������
��������
����������������������������������������������� ��=

!����9�)4Η��8:����
��6��������������������������������������������������������������������������������������������

!����9�)=Η�:��������	�
	�
����������������������������������������������������������������������������������� ��∀

!����9�)�Η�0�
���2������������5
�����������������������������������������������������������������������������∀

!����9�)?Η�Ε:+��������������������
����������
��	��
�����������
��������������������������������� �)�

!����4��Η�>�/���������
������������������������������������������������������������������������������������� �)?

!����4�)Η�:���������
�������
��������
�����
��������
��������
���
�
������������������������������)∀

!����4�#Η�:���������
������
�������
��������
��������
������������������������������������������������ �#∗

!����4�9Η�>�������������������
�����
��������
��������
���
�
�������������������������������������#�

!����4�4Η�1�
���
�������������������������	������������������������������������������������������������ �#)

!����4�=Η�1�
���
����������������������
������������������������������������������������������������������#)

!����4��Η�Ε�5
����������������������������������������������������������������������������������������� �##

!����4�?Η�/���������	������������������������������������������������������������������������������������������� �#9

!����4�∀Η�3��������������
�
�������
������
��������
��

���������������������������������������������� �#�

!����4��∗Η��������	���
������
���
�
�

��������������������������������������������������������������������� �#∀

!����=��Η�.�����,>���
�
�

�������������������������������������������������������������������������������������9)

!����=�)Η�����������
����	�
��−���������
�
��
�
�

�������������������������������������������������� �9#

!����=�#Η����������������	�����
�
��
�
�

����������������������
�
�������������������������������� �9#

!����=�9Η������	�
�����
�
��
�
�

����������������������
�
������������������������������������������� �99



�������������
� ��∀

!����=�4Η�!
��
����	��
�
�

���
��������������������������������������������������������������������������������94

!����=�=Η�<����	��
�
��������������������������������������������������������������������������������������������� �94

!����=��Η�8���
�
������������������������
��	��������
��������������������������������������������������94

!����=�?Η������
����������������∋�����∋���������������������������������������������������������������������9�

!����=�∀Η�:��������
�����8Ε������	�
��������
����������
���08Ε������������������������������������ �9?

!����=��∗Η�8��
��	��������∋�����∋������������������������������������������������������������������������������9∀

!����=���Η�8��
�����
����,	���������������������������������������������������������������������������������� �9∀

!����=��)Η�8��
�����
����������
�,	���������
������������������������������������������������������������4∗

!����=��#Η���
��������
��������
����,	��������Α:�����Β���������������������������������������������� �4�

!����=��9Η���
��������
��������
����������
�,	��������Α:�����Β������������������������������������ �4)

!����=��4Η�8���
����,	������������
����
�

��7��������������2�
����������������������������������� �4#

!����=��=Η�8���
����:�����Β����������
����
�

��7�������������	����������������������������������������49

!����=���Η�:��	�����6�
�����	
�
��:�����Β���������������������������������������������������������������� �49

!����=��?Η�8��
��	��������∋�����∋���
�������
����������������
�����:�����Β���������������������� �44

!����=��∀Η�8��
��	��������∋�����∋���
������	
�
����:�����Β������������������������������������������ �44

!����=�)∗Η�(���	�
��������	�������������������������������������������������������������������������������� �4=

!����=�)�Η�0�������
����������������������������������������������������������������������������������4=

!����=�))Η��������������
����������������������������������������������������������������������������������4�

!����=�)#Η��������

����������
�������
�6
�����������������������������������������������������������4�

!����=�)9Η�8���
��������
	
������������������
������������������������������������������������������ �4?

!����=�)4Η�Χ��
	
�������

��−
��������
��������������������������������������������������������������������4∀

!����=�)=Η�1

������
��������
����������	������������������������������������������������������������������� �=∗

!����=�)�Η��8:����
��6����∋�����∋���������������������������������������������������������������������������=�

!����=�)?Η��8:����
��6���
������������
�����������5
����������������������������������������������� �=�

1������6�1Η�(	���������������
�����
��������
��������
���
�
���������������������������������� �∀�

1������6�1Η�(	���������������
������
��������
��

������
������
�
����������������������������� �∀∀

1������6�.Η�8���
�
���
�����∋�����∋�����������������������������������������������������������������������)∗∗

1������6�.Η�8���������
�����∋�����∋�����������������������������������������������������������������������)∗#





����������	
��

��������	
�������
�������������������������������������������������������������������������������������������� ��

��������	
����������������������
�����������
������
�����

�����
��������
�����
�������������





��	
��
�����

 !���∀#∃ !���% �&�∋ � (���

�����% �)�∋ ���� �����	�
����
��		�� �∗

 � +�����,��−����
�/���
�% � 0��
�

!���%�&�%�1�����%�2�������
∋�	∀∀#��

 !���3�∃ !���% � &�∋ � +4�
% � ��∋ ���������������������
��������� �∗
���
�� � ���5�����%�

&������6��7�����!1%��8���
/�
∋��33���

 !
����∀9∃ !
����% � :�∋ � 2�����% � !�∋ �������� � ��� � ��
���� � �� � ��� � ������������������	����� �∗

�

1���������% �(� � ;���<
 �=����5�����
����������
/��
��=��>�������������
/�����1��
���/��


�����6!&?≅7�����%������#?∀�%�Α�
���%�Β�
���Χ∆��

�∋�	∀∀9��

 !���∀Ε∃ !����;���<∋���������
� �!∀#!∃#%∃#!&#%&#������	����!����!1%�∗
/�������∋�	∀∀Ε��

 !��+��∀3∃ !�����
5����5���∋�%������������������∋���(���)������∗�����������∗

�2������������5����

=����5���
�����
�5∋�!����
�6�����������
�Β����
�������%������?�9%�&4��������∋�	∀∀3��

 ���>��3�∃ ���>���%�Α�∋ �+,��−����.�/�����#�����
����		��0��
������������1�2���������������� �2�Φ?

∆����/%�������∋��33���

 ������∀9�∃ ������
% � (�∋ �+����	���� � (�� � !������
���	3
�4 � ����������
� � ��� � (� � �	������������ �

2��5�����%�Β�������?��
>�!1%�≅����/���∋�	∀∀9��

 ������∀9�∃ ������
%�(�∋ �5������(������ �6���
�������
�#,���		�76�,8��2��5�����%�Β�������?��
>�

!1%�≅����/���∋�	∀∀9��

 ����3#∃ ����% � =�∋ �9���	������� � (�� � :���	���� � ��� � !�(��	 � ��� � %��	;

�	��������� �∗
���
���

���5�����%�&�������!1%�Γ�������∋��33#��

 ��
���39∃ ��
���% �+�∋ ��������������,����������7��,8�#�:��	�
���
�����	�����/��	 �<� �6��������

∗
��������
�����
���/7��
�0
/�
����
/%�����
�����)
�������7�Β�
���∋��339��

 ���/∀�∃ ���/%�Α�∋ �,�������
�=�>��?����5��?������������������
�� �∗

�Α�2�����(�
/�;���<
�����

≅������������0������
�∗
�����7%�����������
%�����	�	?	9Ε%�&��������Χ�����
ΧΦ�
��
∋�	∀∀���

 ������3�∃ ����������%�=����∋ �,���	�/���
���������� �≅���
����
�≅��������0
/�
����
/%�∗
����������

∗
�������% � Η����� � )
�������7% � Β�7 � �333� �����
ΧΧ����������
�>����ΧΙ��
>/��Χ����������ϑ�

=����ϑΒ����ϑ���
���������
����

 ���7∀�∃ ���7% � Α�∋ � 2���5�% � 6� � 6�∋ �����
����������� � ����������?���	��� � ����� � ����	��� � ∗���

�������#���������������
����		��������∗

�∆&∗�:�������∆����	����ΚΛ����1�
������
���
�

6!&Χ6!Β?≅7�����
 � Μ � ���4���� � �
� � �
��−������ � 0������
/�
Κ% � ��� � �9�?�Ε�% � ∆&∗%�

&4��������∋�	∀∀���

 ������∀�∃ ������
��% �Β�?Β�∋ � �>�
����

������
��������	 � ����� � 0��
��( ��������� � :�������� � ��� �

�3����
�����,������	��
��
���������)��������
�������4������
��		�����������������
���� �

>��
���	���
�����!�������	����
������∗

�������������������������Γ������
/��
��=��,��%��Χ��

7���%�∆�����%�����9�Ε?9��∋�	∀∀���



	#9 >��	�������3

 �Β2∀Ε∃ �Β2�;���<∋������
�>,∋���

�����������������!
��� �,�����<4�<≅≅∃���Β2�!1%�Β�
���∋�

	∀∀Ε��

 ������∀Ε∃ ��������% � 2�∋ �,���		��
����� � ,������� � �;� � ���� � ����������� � ���
�������� � ����

!�����
�	������ �&����������
 � �� � ��� � Γ�����7 � ��� � Β����
��7 � �� � ��� � ����
���� � 6����/��

!����
%�≅��5��%�!����
∋�	∀∀Ε��

 ��−
��∀9∃ ��−
���%�Λ�∋�6����0������
�����������������5�
�����
����������?�����,������
#>��(�!5�

760�#5>�8�=�)������(�����������∗
���
������5�����%�&������?��
>�!1%�)��∋�	∀∀9��

 ��−
��∀�∃ ��−
���% � Λ�∋ � &������� � :�∋ �����	��
����� � %�;��	�
��� � �� � !�?������
���������		 �

Α%1<ΒΧΒΧ#−<∀��=����5�����
�(���
��%��%�∆����	%�����	3?	�∋�	∀∀���

 ������∀�∃ ������%�(�∋�Α�����%�Β�∋ �0��
��(�����
�:����������
�������		
� �Φ�������������%�����
���/7�

6�������������∆��5���/�
����
��≅��>/�����%�∆��5���/�
�!1%�≅��>/�����∋�	∀∀���

 ����
3	∃ ����
%�Β�∋��������������������Φ�������������%��������)
�������7∋��33	��

 ������3�∃ �������%�!�∋�+����%�Α�∋�%,!�!5��>����(���
���������7:��
����∀∆Χ∆<8�=��������������
#

,����������Ε�#:��
�����������≅Β!:!1&����Ν������
�/���
�����&������6��7�����!1%�

≅����/���∋��33���

 �����
∀Ε∃ �����
/��% � Α�?(�∋ � 2��
��5�% � Α�?(� � ;���<∋ �6��� � 1�����
�����
������ � �� � +����������� �

≅���
/��%������
∋�	∀∀Ε��

 ���5��∀∀∃ ���5�����%�:�∋�+,��#�+�������,���		������������∆�1�2���������������,���		������������� �

���
�
�7−∆�!��	���8��!�����
?2����7∋�	∀∀∀��

 6�����∀�∃ 6�������

?(����7∋ � ��
/����∋ � Β���∋ �������������� � ��� � ,������ � Α��,� �∗
���
���

���5�����%�&������6��7�����!1%������
∋	∀∀���

 &�����33∃ &������6��7���� �!1∋ �Α��,�%��������������� �∗
���
�� ����5�����% �&������6��7���� �!1∋�

�333��

 &∗Λϑ��∃ &�������� � ∗
������ � �4� � Λ�������
/ � ��∆� � ;&∗Λ< � ;���<∋ ��Α6 � <≅≅4 � ���� � − � /������	��3 �

�

������� �?��� � ��������	 ����?���
 ���� �����
 � 	�
�
� �����
 � 	�
�
� ������% ������
Χ6���/
�∋�

	∀����

 0�/
��3	∃ 0�/
��% �Β����
∋ � ≅���>��% �:����∋ �����������������������#%3
���� � # � 0�� � ��������� � �;� �

����������∗�	�����������������3�	��,�����������≅���
/��%������
ΧΑ��������/∋��33	��

 0���
�3�∃ 0���
���� � �� � :����% � Β�∋ ����(������ � ��� � 0���;����� � ����
 � Α/#��
�;�(��� � �������#

�������������
����������
��;������������
����Α������������������!�������	����
�������� �

#���
��		���� �&����������
 ��� � ��� �����
���� �)
�������7 �6�������� ��33�% �≅��5��% �!����
∋�

�33���

 0�����∀�∃ 0��������% � 2�∋ � +4����% � :�∋ �:��������∗��	��	� � �� � ��� � ���������� � = � +�
�����4 �

�Φ
���
��
��(������0����������� �����
���� �:�����% �Φ��������7�����Β����
���������
��

����
������������
��;2ΗΦ<����:2�Α�!����
�)
�������7%�!����
∋�	∀∀���

 0����∀9∃ 0����%�+�?6�∋ �����	��
������1�����
����������∗����������������
������������������>�
�
 �

������������������#/�����	����� �&���������������������Γ�����7�����∗
�������������)���

)
�������7��
�����������
������&������?��
>�!1%�:��������Ο�����
���/7%�)��∋�	∀∀9��

 Γ��,∀9∃ Γ��,%�∗�∋�Α������������������#��������(�

����		��������∗

�∆&∗�:�������∆����		9#%�����	�?

��%�∆&∗%�&4��������∋�	∀∀9��

 Γ�����∀�∃ Γ������%�)�∋����(��������������,�������(���%���	����������!�������������4�!�
?���������

�����������	�
�����������∗�������������������������������!�������	��������������� �



>��	�������3 	#�

0��?���	��� � ����
 � %���	�����
������3�
 � (�� � +����
�;�(��� � ��� � �������
�������������

����������
# � ��� � :�������
�	������ �&������ � ������ � �� � 0����
/�
 � ����
���� � 6����/�%�

&�������
�����Β����
�����0
/�
����
/ΧΒ�
��������
/�≅7�����%�0����
/�
Χ≅����/���∋�	∀∀���

 Γ�����##∃ Γ���
��7��%���∋�����/�����
����������������������0�(�����

�������������	��#>��(�!5� �

∗
���
���������∋�	∀##��

 1�����∀�∃ 1������% �&�∋ �>�		
 � �� ��������	 � 
��������� � ��� � �
��		����� ���� � ���% �Β������� �&�/�����

=�������
/�6����
7∋�	∀∀���

 1�����33∃ 1���������%�(�∋�!
����%�:�∋�+������%�Α�∋�6������
%�0�∋�!��
�����%�(�∋�Α����������
�	��������

�;������0��?���	��������������
�����%3
������=�������
/��6!&��333∋��333��

 1�����∀9�∃ 1������5�% � Α�∋ � 0��% � (�∋ � =���7% � !�∋ � !
����% � :�∋ �%/0� � = � 5����	��� � ��� �

������������������	�����=�!����������0��?���	���
����������∗

�6∗Β�Β�
�/���
��9Χ∀9%�

����9�?�	%�����
����/∋�	∀∀9��

 1�����∀9�∃ 1������5�% � Α�∋ � 0��% � (�∋ � =���7% � !�∋ � !
����% � :�∋ �%/0� � = � 5����	��� � ��� �

������������������	�����7/��	�−8�=���
������������������������		� �∗

�6∗Β�Β�
�/���
��

�Χ∀9%������Ε?9�%�����
����/∋�	∀∀9��

 1�����∀�∃ 1������5�% �Α�∋ �Β���% � 0�∋ �Α��
% �+�∋ �Α����������
 � �������# � ��� �����������
����		� �∗

�

∗
��������
�����
�5��
������
������∗
�������5���%�∆�����%�������?��∋�	∀∀���

 1�����∀∀∃ 1������5�%�Α�∋�������������
�;�(��
����
�������������0�
��		���∗���)��������
�����	���� �

7�!�8�ΑΑ��Φ�����������∗
���������������∗
������������∗
����������!���������
���������Γ�����7�

����∗
���������%�+���������)
�������7∋�	∀∀∀��

 1����∀∀∃ 1����%�Β�∋�Α��,������

�
�����������∗
���
������5�����%�&������6��7�����!1∋�	∀∀∀��

 1�����Ε∃ 1����%���∋�0	�������
����%�;��	�
���������
����������������
�
��Γ��5��%�2�������
∋�	∀�Ε��

 1����#∀∃ 1����%���∋�%�;��	�
���#�����!�����
�	��������
����������>�	�
��������
��(��9������%�Γ��5��%�

2�������
∋�	∀#∀��

 1����∀�∃ 1����% � ��∋ �!����� � ����� � ������	�� � %�;��	�
���������
����� � # � � ������ � %�;��	�
���4 �

:�����������������4 � ��%#������4 � �!�#����������4 � ���
�
���
���	�� ��,���� � �����/%�

:�

�
/�
?Β��������∋�	∀∀���

 Α�����∀�∃ Α�����% � ≅�∋ �∋�

��
# � ��� � ���������
����� � +����
�;�(��� � ��� � ���
�������� � ∗���

%���������������� ������ ���
������� �>��;��
��������� ���
 �5�

�����
�
� �&����������
 ����

����0����
/�
�����
�����6����/�%�∆&∗%�&4��������∋�	∀∀���

 Α���Λ�3�∃ Α��� � Λ�����% � ≅�∋ �,������ � (�� � ?������
������������ � >�
��������� � ∗��������������� �

0�(�����

� � 7∋Α>0�8 � # � Γ��������� � ��� � ����	�
���� � �� � ��� � ������
���� �

0�(�����
�������������� �&����������
��� �Γ�����7 �∆% �������� ��
��Β����
��7 �≅7�����% ����

����
�����)
�������7������
%�≅��5��%�!����
∋��33���

 Α��
��∀	∃ Α��
����%�Β�?0�∋ �0��?���	��������
����(����
��;������0�
��		�����������	�
������������ �

�������
������������ � ���������	����� � �� � >��
���	 � ��� � !�������	����
����� �&�������

��������������Γ�����7����0��
�������
��≅������≅���
�������Γ��������?!��,�
���?)
�������7�

0���
/�
?Λ�������/��
�����������
������Β�������?��
>�!1%�Λ�������/Χ≅����/���∋�	∀∀	��

 Α��
��∀Ε∃ Α��
����%�(�∋�������
��∗���%�������

����������=��	�

���(�������∗���Η�����������&�������

������ � �� � ��� �Γ�����7 � ��� �Β���������� � �
� �0��
����� �≅���
��� � �� �)�� �)
�������7 � �
�

����������
������&������?��
>�!1%�:���������
������
���/7%�)��∋�	∀∀Ε��

 Α���7
∀3∃ Α���7
%�2�(�∋�Η���!���	�����∗����������������0�(�����

���������!�������	����
������∆&∗�



	#Ε >��	�������3

=��/�����:������%�∆����	Ε%�Λ�����%�∆&∗%�&4��������∋�	∀∀3��

 Α��>��∀�∃ Α��>��%�(�∋����������	�������;��∗���������������������������∋����	�∗���:��������#�(���

�������������∗

�1�����%����6�����%����≅����
�5�;���<
�&���=���
���������Φ��
?����
�5�
��
�

����+��������>��/�����������?�!5�������0
����5��
/�
�����Β�������?Φ�/����5��
����������
��

=��,����Β�������������!����������∗
�����7%�∆&!�≅�����%�∆����Ε%�����9∀?Ε	∋�	∀∀���

 Α4�
����∃ Α4�
��% ���∋ �����������
���������	����� ���� � ��(�����	�� �)�������� ������ � ��
��������

>��;��
��������������:����	���

���������!�������	����
����� �&����������
%�����
������/�

����
�����)
�������7%�����
������/∋�	∀����

 ∗��/�3	∃ ∗��/��������∋ �Γ���������������(�

��
��	����� �∗
���
������5�����%�&������6��7�����!1∋�

�33	��

 (��5��3�∃ (��5��%�Β����∋�:���%�6����∋�Α��
%�(4�/�
∋�Η�
/���%��������∋�+,��−�/������	�#�0���;����� �

�� � ��� � ���� � %�����������		������

������� �Λ��� � ��Ν���&�7� � �33�% � 0�����% � �� � ∀�%�

≅����������33�������
ΧΧ����Ν��5�����Χ�����Χ
���33�������������

 (��
��∀Ε∃ (��
��
% � :�∋ � Φ��
���% �Β�∋ ���, �>������
 � !��	3
�
 �5���� � = � !

�

��� � ������� � ���� �

,����������%3
���
�����0���������������,��������������≅���
/��%������
∋�	∀∀Ε��

 (4
/��39∃ (4
/��%�2�∋ ���������Ι����
�Ε�����������
Ι�Α���� �∗
���
������5�����%�&������6��7�����

!1∋��339��

 +��>�
3�∃ +��>�
����% �!�∋ �5��������(��0�,�=�9���	��������(�� �∋��������?���	��� �����0�,#

%����������∗
���
������5�����%�&������6��7�����!1%�)��∋��33���

 +�����∀�∃ +�����% �+�∋ �����������
�	�����# � ��� � #
�������� �,������
��� �5����	���� � ∗�� � ��%#

%3
����������0�?�������������
�����������������
%�����
����/%�Β�
���Χ∆��

�∋�	∀∀���

 Φ�
���∀9∃ Φ�
���/�%�(�∋ �0��?���	��������
�∗����

������������
�����		
��;������������
��(���
��� �

��∋#����������� �&������ � ������ � �� � ��� � ∗
������� � ��� �Β�������� � Α�
���
/ΧΦ�/������ � ���

����
���� �)
�������7 � �����
 � �
 � ����������
 ����� �Β�������?��
> �!1% ������
Χ≅����/���∋�

	∀∀9��

 Φ�
/
�∀9∃ Φ�
/
��% � ∆�∋ �:������������������ � = � ����������
�	����� � �� � ������ � ����� �

���������������(������

����������0�����≅������%������
∋�	∀∀9��

 Φ���
>33∃ Φ���
>%�&�∋�Α����������
�%3
�������,�
����������=�Α�����������∗���0�,ϑ��,4���%ϑ0���

����!�������������,�
�����������∗

�∗
��������Β�
�/���
�%�∆����	ΕΧ�333%����#	%�1∗��%�

Β�
���∋��333��

 Β��5��∀�∃ Β��5��% � Β�∋ �%���� � �� � %���� � ��� � ��� � ������� � = � ∋����	�?#%3
���� � ;��������� � ��
 �

,��������� � �		�� � ���������
����������� � ����� � ��� � 
������ � ��� � ���(�

�� �∗

�

!����������������
/%�∆����	%�����ΕΕ?Ε#∋�	∀∀���

 Β�

∀�∃ Β�

 � Α�∋ � +�8/�� � )�∋ �6��� � 0�(�����
������������� � �� � ��� � ,������
#>��( � !5 �

���
��		��� ���� �,������ � Ι������������� ���� � ������	��� ���
�����Ι � �� � ������������3�� �

2��5�����%�Β�������?��
>�!1%�≅����/���∋�	∀∀���

 Β����
##∃ Β����
�(�∋�5:%�����������:��������#�	�����
����(���∗

��
��
�%��Χ��7���%�∆�����%������∀#?

939��
��∆����Ε%�����9∀Ε?9∀∀∋�	∀##��

 Β���39∃ Β���% �0�∋ ��������#����������������� ��Α!�15�=����
����
����	���7��∗�	 �<#Χ8� �∗
���
���

���5�����%�&������6��7�����!1∋��339��

 Β�,���3�∃ Β�,������
% �1�∋ �����#/���� �/��	� � ��� �:������������ �∗
���
�� ����5�����% � Γ����������

1�1∋��33���



>��	�������3 	#�

 Β��
�
∀9∃ Β��
�
/��% � +�?)�∋ �!�
��������
��
����� � >�����
��		��� � �������
;������������� �

�	�����
����� � �;� � ��� � ����������
�	����� � ��� � %�������������� � ∗��������������� �

0�(�����

���≅����>?+����
��%�∗�����
∋�	∀∀9��

 Β�����∀9∃ Β�������?��
>�;���<∋ �Γ��������������������������������� �∗
���
��� ����
�
/�������
�%�

Β�������?��
>�!1%�≅����/���∋�	∀∀9��

 Β�����∀��∃ Β�������?��
>�;���<∋�:��	��	�������������Β�������?��
>�!1%�≅����/���∋�	∀∀���

 Β�����∀��∃ Β�������?��
> � ;���<∋ ��Α!�15 � = � 0����(���
?��� � ��� � ���� � ��������������������� �

Β�������?��
>�!1%�≅����/���∋�	∀∀���

 Β�����∀��∃ Β�������?��
>�;Α��/�<∋��Α!�15�=�);�������:��
������
 �Γ�������;���4�%��������Η?��� �

∗����Α!�154�����������������������������������5�
�����
��	����∋� �Β�������?��
>�

!1%�≅����/���∋�	∀∀���

 Β�����∀Ε�∃ Β�������?��
>�;Α��/�<∋�������	�
��=���

���������
�����
�����	��Κ�������∆�0������∗�������

Λ����Χ4�<≅≅∃��Β�������?��
>�!1%�≅����/���∋�	∀∀Ε��

 Β�����∀Ε�∃ Β�������?��
> � ;Α��/�<∋ ���� � ∋�� � (�� � ������	�� � /��	�∗��	��	�� �Β�������?��
> � !1%�

≅����/���∋�	∀∀Ε��

 Β�
5�3	∃ Β�
5�% � 0�∋ �Α��, � = � ����	�
����
������
����� � ����� � ,������� �∗
���
�� � ���5�����%�

&������6��7�����!1∋��33	��

 Β�
5�∀�∃ Β�
5�%�0�∋�5��������(���������
������>�
�
�∗�����������	���2��5�����%�Β�������?��
>�

!1%������
∋�	∀∀���

 ���33∃ ���% � ≅����
∋ �������
� � ��� � �	����� � ∗��������������� � �������� � �� � >��
���	 � ��� �

!�������	����
������∆&∗�=��/�����:������%�∆����	Ε%�Λ���	�3%�∆&∗%�&4��������∋��333��

 ���∀�∃ ���%���∋�+���>������%���∋�1�������
%���∋�+�����
/%�1�∋�Α�����������,���		�������∗������(�Μ �

��� �������� � ���0��?���	���
�������� �∗

 � ∗Β �∗
��������
� �Β�
�/���
� �Ο�6�
�����
/%�

∆����	��≅�������������
�	∀∀�%�����#?	9∋�	∀∀���

 ����
�∀Ε∃ ����
�% � ��∋ �,����������

����� � ;��� � ��� � ������
� � ��
��?��	��� � ������������� � ∗���

%�������

�������
����
��&���������������������Γ�����7����0��
�������
��≅������≅���
����

�� � Γ��������?!��,�
���?)
�������7 � 0���
/�
?Λ�������/ � �
 � ����������
 ����� �Β�������?

��
>�!1%�Λ�������/Χ≅����/���∋�	∀∀Ε��

 =���3�∃ =���% � 1�∋ � ����>% � 2�∋ � Γ�������
% � (�∋ � 1����% � +�?Α�∋ ����
��������
	���� � = � 5����	�����

����	�������� � ����������?���	���4 � ,������� � ��� � !�?������� �Ε�� � ���% � ≅���
/��%�

�����
ΧΑ��������/ΧΛ���Π��5∋��33���

 =���#Ε∃ =���%�(�∋��	�����4�%�������������
�������
����!�
�����������������������?���	�����:+2?

Α�
������Γ������
/��
��0
����5��
/%�+�
����5���
%������%�0��≅������?∆����/%������
∋�

	∀#Ε��

 =�����#∀∃ =�������% � 2�∋ � &8����% � )�∋ � 1�/�������% � ≅�∋ � 2��/��
�% � 6�∋ � 1�����>% � !�∋ ���
��� � ����

/3���∗��	��	�� �:���������
��2��5�:������Λ���	�����:��������1���������∗

������
��
��

����
���/�����Γ���������;Γ∗∆<����&�������
������∗
�������������
����Β�
�/���
���������

Γ�����7 ��� �0��
����� ��
��≅����� �≅���
��� ��� �Γ��������?!��,�
���?)
�������7�0���
/�
?

Λ�������/��
�����������
������Β�������?��
>�!1%�Λ�������/∋�	∀#∀��

 =�����3�∃ =�����% � ��∋ � ≅���5�% �6�∋ �,�

 ���
����(����� � ��� ������������������ � = �6��� �∋��� � (���

����∗���∗������������≅7������
%�&4��������∋��33���

 =���
>∀#∃ =���
>5� �6≅6�;���<∋ �����������������(�

� ���
��	��� � �;� ���� �,����� �∗���������� �����



	## >��	�������3

∗
���
����
���6�
/�����Φ����67����Β�
�/���
�%�Β��
>∋�	∀∀#��

 :���
�∀�∃ :���
��% � =�(�∋ �Α����������
 � :������������������ � # � >�
�������4 � ���	�
������ � ����

%�������������������	����������∗��	��	���∆�
��
����5�Ο�:�������%�18���
/�
∋�	∀∀���

 :��∀#∃ :��%�Α�∋�����������
�	����������#
����������==≅��Ε3	%�6&:�∋�≅���������	∀∀#��

 :8���3Ε∃ :8���%�≅�∋ �0��?���	��������
�����		������������!�
��(�
�(���5�����������∗���%������� �

����!�	���
��������������
���� �>����(�������	������ �&������������� ��� � ��� �Γ�����7 � ����

∗
��������� ��� �)���)
�������7 � �
 � ����������
 ����� � �ΘΘ�����
� � �������
� �1��Α% �)��∋�

�33Ε��

 :7��53�∃ :7��5%�Α�∋���,�#�?�
�����
����∗����������=����5�����
��
�/���
�?Β�/�>�
%�6!&?6!Β�

:0=�:��Λ����%�Β�
���∋��33���

 ≅!=3	∃ ≅!=∋ �Ι,������������0#%���	3������Ι��������!�������	����
����������3%!��!�������∗�� �

2�����=��������≅!=�!1%�2�������∋��33	��

 ≅��=��3	∃ ≅!= � =ΦΒ?����∋ ��3%!� � ������� � �����3�	� � ,��������� � = � %��������4 � /�����	����4 �

Α��	�������������≅!=�=����Χ1�������=����∋��33	��

 ≅����/�#∃ ≅����/��%�Α�∋�>������
?���
�����	��������
�Κ���(����������������������(������������
��		� �

���>��
���	�����:��������∗��	��	�����!�������	�����∗

�2�≅��?�0��
������≅��������%�∆����

�%�����Ε�?#�∋�	∀�#��

 ≅��8
�#�∃ ≅��8
�����
% � =�∋ �)	�
��	� � ����������
�	����� � ��� � #
�������� � ��� � ��� � �������� �

0�?�����������������������������0��
��(�����
�0
������
3
���
��;�������∗�������������� �

)����������62�=���������
�%�Β�
���∋�	∀#���

 ≅��8��∀∀∃ ≅��8��
��%�(����∋�������������������������������)��������
����
���� �����(���#����(���� �

#�%�����������6����Α�
���%�Β�
���Χ∆��

�∋��	∀∀∀��

 ≅����#∀∃ ≅����% � 1�∋ �5�
��	���� � ��� � >�?������ � ∗�� � �������∗�������� � # � 0�� � >������ � (�� �


3
������
������	������∗���%��������������� �∆&∗�:��������:������% �∆��� ��% �Λ�� �	��%�

∆&∗%�&4��������∋�	∀#∀��

 ≅�7���∀�∃ ≅�7����%�0��������∋�60�#∋1���#�����������)�����������������
�����������∗
���
��������%�

&������6��7�����!1∋�	∀∀���

 ≅���5�3�∃ ≅���5�%�!�∋ �:���	�����(?��������������		�����>������������)Η#��������������Γ���	��� �

����������������
�����0��
��(�Φ�	���������� �&���������������������������
�)
�������7%�

�����
∋��33���

 ≅�����∀9∃ ≅�����% � ��∋ � !���
�% � &�∋ � 2�����% � ��∋ �,������	# � ��� � )��������
?���
����� �

����������
	���
����������%#%3
�������Γ���������+����%�Φ����/�����
∋�	∀∀9��

 ≅���
�∀∀∃ ≅���
�����% � 0�∋ ����	�
������ � ����
 � 
3
������
���� � �����������		
� �&����������
 � ���

����
�����)
�������7�Β�
���%�≅��5���∆����/%�!����
∋�	∀∀∀��

 ������3	∃ ������%�+����∋�%���	3�������,����������#����(�

�������������������	���
��
����������� �

Γ������∆����/%�6���/
�∋��33	��

 ����Ρ�∀Ε∃ ����Ρ�
% � Γ�∋ �0���	�
?�������� � ��� � :��������∗��	��	� � ��� � :������������������ �

!�����������(���>�������∗���!��	� �5∆ ����������������,����� ����		����� �∗

 �Η���?�

Β�/�>�
����������
����Β�
�/���
��ΕΕ%�∆����#%�����∀#∀?∀∀�∋�	∀∀Ε��

 �����
3�∃ �����
��% �&������∋ �:�������
����		 �(���,��������� �∗��������������� � �� �����	�
�� �

�����3����
���������������?���	���
���(�

����≅��5��%�!����
∋��33���



>��	�������3 	#∀

 )
/���#Ε∃ )
/������% � )�∋ ��������# � ��� � ,������
������������� � ,������� � (�� � �	����� � ����� �

�����������
��������� � �������# � ��� � ,������
������� � �;� � ����	�
� � 0�(�����

� � ����

0��(�	# � ��� � �	���
���������������� �∆&∗ � =��/���� � :�����% � ∆��� � �% � Λ�� � 		�% � ∆&∗%�

&4��������∋�	∀#Ε��

 ∆&∗���ϑ∀�∃ ∆����
�&���������∗
/�
��������∆��;∆&∗<�;���<∋�6����5����������∗����!�ϑ�!,#%3
������

=�0��;		�������������
�����0�?����������∆&∗�:������∆����	���%�∆&∗%�&4��������∋�	∀∀���

 ∆&∗��#ϑ��∃ ∆����
�&���������∗
/�
��������∆��;∆&∗<�;���<∋ �0	�������
���������∗��������������������

����������
�	����������#
���������ΑΑΑ �Α����������
#�����%�;��	�
���?�
��� �∆&∗�=��5���

���5���#%�∆&∗%�&4��������∋�	∀����

 ∆&∗���ϑ�Ε∃ ∆����
�&���������∗
/�
��������∆��;∆&∗<�;���<∋ �0	�������
���������∗��������������������

����������
�	����������#
���������:Α �>������
(�
����������4�>������
��������������∆&∗�

=��5������5����%�∆&∗%�&4��������∋�	∀�Ε��

 ∆��5��∀Ε∃ ∆��5���/�
�;���<∋ �5�	��������	��∆�������	�
� �0������∗������,���	�Ν����<≅≅Ο4�!
����<≅≅∃#

ΒΧ#−Ο��∆��5���/�
�!1%�2�������/∋�	∀∀Ε��

 2���∀�∃ 2���% �!�Α�∋ �1�����	��:�������
�	����������#
��������� ��������������� ���� �Γ�	�� ���� �

	��������1����������� �∗

�1�����%����6�����%����≅����
�5�;���<
�&���=���
���������Φ��
?

����
�5�
��
�����+��������>��/����������
�!5�������0
����5��
/�
�����Β�������?Φ�/����5��
�

���������
��=��,����Β����������
�!����������∗
�����7% �∆&!��������∆����Ε%�����	��?	Ε	∋�

	∀∀���

 2��
��∀�∃ 2��
��5�%�Α�?(�∋ ���∗�	�������������+����������
��	����#���
�������	��+�����������−�� �

��������7<
����∆ �����������	��)�����8��≅���
/��%������
∋�	∀∀���

 2�6���∃ 2�5������ � 0
�7��������∋ ��������� � !���� � %���?��� � 0����������#/��	
4 �(��7 � �% � �33Ε%�

2�5������ � Γ��
�����
 � ∗
��% �����
ΧΧ�
���5���������/Χ��5�Χ6�������?

!����ϑ≅�������ϑ0
/�
����
/

 2��
��∀�∃ 2��
����%�Α�?=�∋�����������
�	����������#
������������∋����	��∗

�Η�Γ�?�Β�/�>�
������

0��
�����Β�
��������
/�∀3%�∆�����%�����#�?#�∋�	∀∀���

 2�Ν
5�3�∃ 2�Ν
5��% � ��6�∋ �Α���������� � �� � Α���������� � �� �,������������ � %3
���
� �&����������
 � ���

���
���)
�������7%�Λ�������
��∋��33���

 2�Β∆6∃ 2�5������ �0
�7��������∋ � �,���	#:��?#������		��#���������4 �(��7 �9% ��33Ε% �2�5�������

Γ��
�����
�∗
��%�����
ΧΧ�
���5���������/Χ��5�ΧΒ����?����?��
�������

 2����5∀	∃ 2����5%�(�=�∋�(�
��%�&���∋�:���%�&�∋ �����(?�������∗�	�������������!�������	����
�����= �

���
�Κ���(�� � ��
 � ��� � ?�	�?����� � %����� � ��
 �,�

����
���
 � Α�
������ � �� � /�����	��3� �

6�����%�Γ��
5����ΧΛ���Π��5∋�	∀∀	��

 222�	∃ �����������?�����������

 222�	∃ ����
ΧΧ�����/�����
��������

 222�	∃ ����
ΧΧΝ������
����

 222�	∃ ����
ΧΧ�����������Χ���
�����Χ���?�?Λ������
�����������?�����������

 Η−����∀	∃ Η−����%�1�∋ �%�;��	�
���4�:��?������
����?��
�4�!�����
�	������������������
����������� �

∗

�2�≅��?�0��
������≅������%��3%�∆�����%������93?�9Ε∋�	∀∀	��

 Η����
#9∃ Η����

% � 2�∋ �/��	�������
������	��� � ��� � �������
������������ � ∋�������	��������� � ����

��������������!����4������
��		�����>��
���	���
�!��(�����
��&����������
��������Γ�����7�����

Β����
���� � �
� � 0��������� � 0
/�
����
/ � �� � ����
������/ � ����
���� � )
�������7%�



	∀3 >��	�������3

����
������/∋�	∀#9��



�����

�

����������	
������������������������
��
������
���
���

���������������������������������������������������� ���

��

�

��	������	����������������������������������� ���
���
���

���	����������������������������������������������������������� ��

�������	���������������������������������������������������� ��


 ����	������������������������������������������������������ ���

!��∀���	��������������������������������������������� ���
�


�

#���∀��∃
������������	��������������������������������� ���

#�����%&������������������������������������������������������� ��

��∋����(��������������������������������������������������� ��

��	������	����������������������������������������������� ���

#&��	���
���	��������������������������������������������� ���

�

)(�	∋�
��	�∋���	���������������������������������� ���
��

)�∗�
�&��������������������������������������������������������������

+�	∋���������������������������������������������� 
��
���
��

,(����������������������������������������������������� �����
��

)���&���
��∗�∗
∗���∋	����������������������������������� ���

)���&���
��∗�∗
��	&����&��	∋������������������������ �

)���&���
��∗�∗
���		�	∋��������������������������������� �

)���&���
��∗�∗
�������
���		�	∋������������������� ��

)���&���
��∗�∗
−&����������������������������������������� �

)�	��∋&�����	
�(�	∋������������������������������������ ���

)&������
��∗��
������������������������� �����
���
����

)&������
��������.����	��������������������������������� ���

	

/�����������	������������������������������������������ ���
��

/���∋	
∗���(������������������������������������������� �
�
���

/��&��	�����	���������������������������������������������������

0∃������������������������������������������������������������ ��

1������������������������������������������������������������� ��

+�	∋&�∋���������������������������������������������������� ��

2��(�∗�������������������������������������������������� ��
��

��������������������������������������������������������� ��
�


���∗&���������������������������������������������������� ��
��

3��(	������������������������������������������������� ���
��




0	∋�	����	∋
∗���
��	�∋���	��������������� ��
�
�
��

0	��������
����&���
���		�	∋���������������
��
���
�


0−&����	�
��	&����&��������������������������
���
���

04�50,,������������������������������������������������� ���
��

04�50,,%���������������������������������������������������� ��

�

6������
����&����������������������������������������������� ����

6���������������������������������������������������������������������

)(��∀������������������������������������������������� 
��
���

)�	�����	��������������������������������������������������� ��

1	��������	���������������������������������������� ���
���

5���������	����������������������������������� �
�
���
���

5&������������������������������������������������������� �
�
��

3��(	����������������������������������������������� ���
���

3����������������������������������������������������������� ���

3����������������������������������������������������������� ���

6��∃�������
������������������������������������������������� ���

�

13�∋��������������������������������������������������� ����
�����

�

+��������
��	�∋���	������������������������������������� ��

+�	�
���&��&���������������������������������������������������� ��



��� �����




2�7��
�����	�	��������������������������������������� ���
��

2�	&����&��	∋������������������������������������������ 

�
��

)����	���������������������������������������������������� ��

)�	��∃������������������������������������������������������� ��

/���	∗����������������������������������������������������� ��

0����	������������������������������������������������������ ��

6��8���������������������������������������������������������� ��

+�9����������������������������������������������������������� ��

:�∗����������������������������������������������������� ���
�


���	����������������������������������������������������� �
�
��

�������������������������������������������������� ���
���
��

���∋��������������������������������������������������������� ��

,�−&�	����������������������������������������������������� ��

,��&��&������������������������������������������������������ ��

3������������������������������������������������������������ 
�

3������������������������������������������������������� ���
��

!��∀���8�������������������������������������������������� ��

2�	&����&��	∋
∗���(��������������������� ����
����
���

2��&����
��9��������������������������������������������������� ��

�

;�9�∋����	
∋��&��������������������������������������������� �


�

:	��!��∀���������������������������������������������������� �
�

�

�����
������������������������������������������������������������������

#����
9�����	��������������������������������������������� 
�

)����	
������������������������������������������������ 
�

)�����∃
8��(
�&��∗
�������������������������������� 
�

6������������������������������������������������������������ ��

1	��������	������������������������������������������������ ��

2�∗&�������������������������������������������������������� ��

2&����������������������������������������������������������� 



:9��9��8��������������������������������������������������� ��

��&�%��	&�������������������������������������������������� 
�

<&�	��������������������������������������������������������� ��

5&��%����∗
������∃���������������������������������� 
�

,��&��&������������������������������������������������������ ��

 ����	�������������������������������������������������������� 
�

�����(��∗������������������������������������������������������� �


���		�	∋�������������������������������������������������������������

��������	∋������������������������������������������������ ��

)�������������������������������������������������������������� �


1	9�����	�������������������������������������������������� �


2�	&����&��	∋������������������������������������������� ��

2������������������������������������������������������������ �


2��(�∗������������������������������������������������������ �


,��&���������������������������������������������������������� ��

3��������������������������������������������������������������� ��

3����	∋������������������������������������������������������ �


!��∀���8�������������������������������������������������� �


���		�	∋
������������������������������������������������� �
��

�������	���������������������������������������������������������������

1	�����		�����	���������������������������������� ���
���

���������������������������������������������� ����
��
�
���

 ����	��������������������������������������������������� �����

�������	��
∋���(������������������������������������������� ���

����������������������������������������������������������������������

/���
��∗�������������� �������
������
������
�����

0	∋�	����	∋��������������������������������������������� ����

���∗&�����������������������������������������������������������������

/���
��∗�������������� �������
������
������
�����

0	∋�	����	∋��������������������������������������������� ����

��	������	
��������������������������� ��
���
���
��

���		�	∋����������������������������� ��
�
�
�����
���
��

���∗&��
∗���
��	�∋���	�������������� ����
�
�
���

�

���∗&��
��(���������������������������� �
����
������
����

���∗&����	����������������������������������������������������������

���		�	∋��������������������������������������� ��
������
��

���∋������������������������������������������������������� ���

,�−&�	��������������������������������������������������� ���

����=∋=���������������������������������������������������������� �
�

���������������������������������������������������������������������

6���������������������������������������������������������� �
�

1������	�����	�������������������������������� �
��
�
�

13
���(�����&������������������������������������������� �



+����
��∗���������������������������������������������� �
�

5����.����	����������������������������������������������� �
�

,����	�(������������������������������������������������� ���

3��(	����
���������9������������������������������������ ���

�

5������	
9����	������������������������������������������������ �

5������
��	�∋���	������������������������������������� ���

5�&∋(
���������������������������������������������������������� ��



����� ��


�

,�����	��(�∗
������������������������������������������������ ��

,�	∋��
���������������������������������������������������������� ��

,�������
∗���∋	
�����	���������������������������� ���
��

,30���������������������������������������������������� 
��
���
��

,&������
�	��∋�����	�������������������������������������� ���

�

3��
��9��
∗���
��7����������������������������������������� ��

3��%∗�8	��������������������������� 
��
�����
���
���
���

�

?	����∗
2�∗���	∋
+�	∋&�∋����������������������� �����





��������





� �������	
���

����������	�
��

�������������������������������
��������������



���������� ���



����������	�
��

����������������
�
���������������������������������



���������	 ���


 ����	�������

����������	������������������ !����

∀#������∃%������&∋(





���������	 ���



����������	������

���������� !����

∀#������∃%������&∋(



���������	 ��)





���������	 ��∗





����������	�
���
�����������������	������������������������

�������	
���



	1Introduction
	1.1Situation of automotive industry
	1.1.1Variant diversity
	1.1.2Process complexity
	1.1.3Information systems along the core processes
	1.1.4Summary


	1.2Hypothesis
	1.3Target and content of the study
	1.4Structure of the study
	1.5Fonts and formatting
	2Analysis of current methods of product and process documentation
	2.1Basics of product documentation
	2.1.1Method of product documentation
	2.1.2Tasks and targets of Technical Documentation
	2.1.3Levels of product documentation
	2.1.4Manufacturing levels of the product description

	2.2Basics of the product level
	2.2.1Structuring terms on the product level


	2.2.2Vehicle configurations based on options
	2.2.3The technical content of options
	2.2.4Mandatory and optional options
	2.2.5Basic and additional options
	2.2.6Standard and optional equipment
	2.2.7Implicit and explicit product documentation
	2.2.8From customer configuration to a production order
	2.3Basics of the technical level
	2.3.1Master and structural data
	2.3.2Parts list
	2.3.3Product structure and product schema
	2.3.4Product schema versus product structure and parts lists
	2.3.5Types of graphical representations of product structures

	2.4Methods of product documentation
	2.4.1Classification of the parts list methods
	2.4.2Basic forms of parts lists
	2.4.3Variant parts lists

	2.4.4Closed variant parts lists
	2.4.5Open variant parts lists
	2.4.6Method of rule-based complex parts list
	2.4.7Method of complex parts list with ruled positions
	2.4.8Selecting the structuring level
	2.4.9Critical review of current methods
	2.5Basics and methods of process documentation
	2.5.1Tasks of production planning
	2.5.2Significance of a workplan
	2.5.3Assembling planning
	2.5.4Variant workplans
	2.5.5Computer-aided workplan generation
	2.5.6Critical review of current methods

	2.6Implementations of product and process documentation
	2.6.1Documentation at Mercedes-Benz Cars as example

	2.6.2Standard for the exchange of product model data (STEP)
	2.6.3Commercial application systems using SAP as example
	2.6.4Scientific approaches and prototype implementations
	3Requirements on an integrated product and process documentation
	3.1Requirements as seen from variant management
	3.1.1Integration of product, process and resource information
	3.1.2Integration of product engineering and production planning
	3.1.3Flexible and easily expandable data model
	3.1.4Unambiguous and redundant free mapping of information
	3.1.5Documenting experience and knowledge
	3.1.6Realization of plausibility algorithms
	3.1.7Reusing parts and components
	3.1.8Providing a product schema across model ranges

	3.2Requirements as seen from process management
	3.2.1Process management and process control
	3.2.2Process design and process integration
	3.2.3Seamless reuse of engineering data
	3.2.4Improvement of start-up management
	3.2.5Mapping the manufacturing or assembling sequence
	3.2.6Integrated change management
	3.2.7Providing process specific information


	3.3Requirements on IT solutions
	3.3.1Software ergonomics, usability, visualization
	3.3.2Provision, robustness and stability, efficiency
	3.3.3Migration capability, integratability, data consistency
	3.3.4Serviceability, expandability, scalability

	3.4Summary
	4Concept of the interconnections documentation
	4.1Defining and deriving the interconnections documentation
	4.1.1Product documentation as a web of parts and interconnections
	4.1.2Top-down to parts and interconnections
	4.1.3Variant diversity and complexity management
	4.1.4Process specific views and bottom-up generation


	4.1.5Summary and further procedure
	4.2OPS and psPS
	4.2.1Definition and structure of the OPS
	4.2.2Deriving the psPS from the OPS
	4.2.3Process specific information in the OPS and psPS
	4.2.4Organizational embedding of the OPS

	4.3Product configuration
	4.3.1Part positions and part position variants
	4.3.2Interconnection positions and interconnection position variants
	4.3.3Short code rule with positive expressions

	4.3.4Web of smallest design elements
	4.3.5Configuration of the basic web
	4.4Decomposition
	4.4.1Alternative methods to derive a product structure
	4.4.2Methodological procedure of the decomposition
	4.4.3Integrating indirect process functions

	4.5Sequencing and assembly generation
	4.5.1Sequencing the interconnections

	4.5.2Preference graph
	4.5.3Manufacturing sequence
	4.5.4Other applications of sequencing
	4.5.5Assembly generation
	4.5.6Analysis of the number of key terms
	4.6Design depth versus manufacturing depth
	4.6.1Meaning for product and process documentation
	4.6.2Manufacturing depth = design depth
	4.6.3Manufacturing depth < design depth
	4.6.4Manufacturing depth > design depth

	4.7Feasibility
	4.7.1Meanings of feasibility
	4.7.2Technical feasibility

	4.8Process specific view generation
	4.8.1Interconnection based views
	4.8.2Bottom-up generation
	4.8.3Expanded position model of an interconnection

	4.9Integrated use of part and interconnection positions
	4.9.1Interconnection based change management
	4.9.2Definition and structure of the IPDM
	4.9.3Potential uses of the IPDM

	4.10Migration
	4.10.1Iterative migration
	4.10.2Initial migration step

	4.10.3Further migration procedure
	4.11Summary
	5Design and basics of IT implementation
	5.1Unified Modeling Language
	5.1.1UML basics
	5.1.2Class diagram
	5.1.3Use case diagram


	5.1.4Activity diagram
	5.1.5Sequence diagram
	5.2IT architecture of the prototype
	5.2.1Basics of the IT architecture
	5.2.2Technological basics
	5.2.3Overview of the used technologies

	5.3Realization of the prototype
	5.3.1Layer model of the prototype
	5.3.2View layer
	5.3.3The controller layer
	5.3.4Application data layer
	5.3.5The persistence layer

	6Prototype implementation
	6.1Basic GUI structure
	6.1.1Conventional top-down structure
	6.1.2Graphical web structure
	6.1.3Functional views
	6.1.4Product and process information

	6.2Business scenario "ITego"
	6.2.1Scope and data basis
	6.2.2Creating the project specific product structure
	6.2.3Documentation of product and process information


	6.2.4Configuring an additional pane variant
	6.2.5Decomposition of the driver's door
	6.2.6Bottom-Up Wizard
	6.2.7Appending attachments
	6.2.8Applying the IPDM matrix
	7Summary, outlook and recommendation
	7.1Summary
	7.2Result of the study
	7.3Outlook and recommendation


